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[1] A

This Test-Booklet contains 24 printed pages.

ß‚ ¬⁄UËˇÊáÊ-¬ÈÁSÃ∑§Ê ◊¥ 24 ¬¡ „Ò–

Your Roll Number / •Ê¬∑§Ê •ŸÈ∑˝§◊Ê¥∑§
Test-Booklet

¬⁄UËˇÊáÊ-¬ÈÁSÃ∑§Ê

10
Time Limit : 1 hour 30 minutes ‚◊ÿ ‚Ë◊Ê — 1 ÉÊ¥≈Ê 30 Á◊Ÿ≈U
1. When you take out the OMR Answer-Sheet placed inside the Test-Booklet, ensure that Question-Booklet Number on Test-Booklet and

OMR Answer-Sheet are same, otherwise get them changed.  Please do not mark your answers on this Test-Booklet.

¬⁄UËˇÊáÊ-¬ÈÁSÃ∑§Ê ∑§ ’Ëø ⁄Uπ ª∞ OMR ©ûÊ⁄U-¬òÊ ∑§Ê ’Ê„⁄U ÁŸ∑§Ê‹Ÿ ∑§ ¬‡øÊÃ˜ •Ê¬ ÿ„ ‚ÈÁŸÁ‡øÃ ∑§⁄U ‹¥ Á∑§ ¬⁄UËˇÊáÊ-¬ÈÁSÃ∑§Ê •ÊÒ⁄U OMR

©ûÊ⁄U-¬òÊ ◊¥ ¬˝‡Ÿ-¬ÈÁSÃ∑§Ê ∑˝§◊Ê¥∑§ ‚◊ÊŸ „Ò¥, •ãÿÕÊ ß‚ ’Œ‹∑§⁄U ŒÍ‚⁄UË ‹ ‹¥–  ∑Î§¬ÿÊ ß‚ ¬⁄UËˇÊáÊ-¬ÈÁSÃ∑§Ê ¬⁄U •¬Ÿ ©ûÊ⁄UÊ¥ ∑§Ê •¥Á∑§Ã Ÿ„Ë¥ ∑§⁄¥U–
2. This Booklet consists of 100 questions and carries 100 marks.  All questions are compulsory and they carry equal marks.  There is no

negative marking.

ß‚ ¬˝‡Ÿ-¬ÈÁSÃ∑§Ê ◊¥ 100 ¬˝‡Ÿ „Ò¥ ÃÕÊ 100 •¥∑§ „Ò¥–  ‚÷Ë ¬˝‡Ÿ •ÁŸflÊÿ¸ „Ò¥ ÃÕÊ ©Ÿ∑§ •¥∑§ ‚◊ÊŸ „Ò¥–  ́ §áÊÊà◊∑§ •¥∑§ Ÿ„Ë¥ „Ò–
3. Each question has four alternatives (A), (B), (C) and (D).  Of these four alternative answers, only one is the correct answer for each

question.  Use only Blue or Black ball point pen to answer questions.

¬˝àÿ∑§§ ¬˝‡Ÿ ∑§ Á‹∞ øÊ⁄U Áfl∑§À¬ (A), (B), (C) •ÊÒ⁄U (D) ÁŒ∞ ª∞ „Ò¥–  ßŸ øÊ⁄U Áfl∑§À¬Ê¥ ◊¥ ‚, ¬˝àÿ∑§ ¬˝‡Ÿ ∑§ Á‹∞ ∑§fl‹ ∞∑§ ©ûÊ⁄U ‚„Ë „Ò–  ∑§fl‹ ŸË‹ •ÕflÊ
∑§Ê‹ ’ÊÚ‹ åflÊß¥≈U ¬Ÿ ∑§Ê „Ë ©ûÊ⁄U ŒŸ ∑§ Á‹∞ ¬˝ÿÊª ∑§⁄¥U–

4. All answers are to be marked on the OMR Answer-Sheet only.  Mark your responses carefully.  Any cutting, use of Fluid, Eraser, use of
Blade, etc. are not allowed for changing the answers and treated as wrong answer.

‚÷Ë ©ûÊ⁄UÊ¥ ∑§Ê ∑§fl‹ OMR ©ûÊ⁄U-¬òÊ∑§ ¬⁄U „Ë ÁøÁqÃ ∑§⁄¥U–  •¬Ÿ ©ûÊ⁄UÊ¥ ∑§Ê ‚ÊflœÊŸË¬Ífl¸∑§ ÁøÁqÃ ∑§⁄¥U–  ©ûÊ⁄U ’Œ‹Ÿ ∑§ Á‹∞ ∑§Ê≈U-¬Ë≈U ∑§⁄UŸÊ ÃÕÊ é‹«U, ⁄U’«∏,
‚»§Œ Ã⁄U‹ ßàÿÊÁŒ ∑§Ê ©¬ÿÊª ∑§Ë ÷Ë •ŸÈ◊ÁÃ Ÿ„Ë¥ „Ò–  ÿÁŒ ∞‚Ê Á∑§ÿÊ ¡ÊÃÊ „Ò, ÃÊ ©‚ ª‹Ã ©ûÊ⁄U ◊ÊŸÊ ¡ÊÿªÊ–

5. Candidate will not be allowed to take away Question Booklet rather they will submit it to the Invigilator alongwith the OMR
Answer Sheet.

¬⁄UËˇÊÊÕË¸ ∑§Ê ¬˝‡Ÿ-¬ÈÁSÃ∑§Ê ‹ ¡ÊŸ ∑§Ë •ŸÈ◊ÁÃ Ÿ„Ë¥ „Ò, ’ÁÀ∑§ ß‚ OMR ©ûÊ⁄U-¬òÊ ‚Á„Ã ÁŸ⁄UËˇÊ∑§ ∑§Ê ‚ÊÒ¥¬ŸÊ „ÊªÊ–
6. Candidates will be allowed to carry the duplicate/carbon copy of the OMR Answer-Sheet.

¬⁄UËˇÊÊÕË¸ ∑§Ê OMR ©ûÊ⁄U-¬òÊ ∑§Ë «ÈUÁå‹∑§≈U/∑§Ê’¸Ÿ ∑§ÊÚ¬Ë •¬Ÿ ‚ÊÕ ‹ ¡ÊŸ ∑§Ë •ŸÈ◊ÁÃ „ÊªË–
7. Open your Test-Booklet seal, only when asked to do so.  Contravention of this attracts disqualification.

•èÿÕȨ̈ ∑§Ê ¬⁄UËˇÊáÊ-¬ÈÁSÃ∑§Ê ‚Ë‹ ¡’ ∑§„Ê ¡Ê∞, Ã’ „Ë πÊ‹ŸË „Ò–  ß‚ ÁŸŒ‡̧Ê ∑§Ê ©À‹¥ÉÊŸ ∑§⁄UŸ ¬⁄U •èÿÕȨ̈ ∑§Ê •ÿÊÇÿ ∑§⁄UÊ⁄U ÁŒÿÊ ¡Ê ‚∑§ÃÊ „Ò–
8. You have to fill the boxes and shade the circle for your Roll Number and Booklet Series in the boxes because this information is essential

for evaluation of the Answer-Sheet.

•Ê¬ •¬ŸÊ •ŸÈ∑˝§◊Ê¥∑§ •ÊÒ⁄U ¬ÈÁSÃ∑§Ê oÎ¥π‹Ê ∑§Ê •fl‡ÿ ÷⁄¥U •ÊÒ⁄U flÎûÊ ∑§Ê ∑§Ê‹Ê ∑§⁄¥U, ÄÿÊ¥Á∑§ ÿ„ ¡ÊŸ∑§Ê⁄UË ©ûÊ⁄U-¬òÊ ∑§ ◊ÍÀÿÊ¥∑§Ÿ ∑§ Á‹∞ •Êfl‡ÿ∑§ „Ò–
9. Completely darken the CIRCLE so that the letter/number inside the CIRCLE is not visible.

flÎûÊ ∑§Ê ß‚ Ã⁄U„ ∑§Ê‹Ê ∑§⁄¥U Á∑§ flÎûÊ ◊¥ Á‹πÊ •ˇÊ⁄U/Ÿê’⁄U ÁŒπÊß¸ Ÿ Œ¥–
10. Darken only ONE CIRCLE for each answer as shown in the example below.  If you darken more than one CIRCLE, your answer will be

treated as wrong.

ŸËø ©ŒÊ„⁄UáÊ ◊¥ Œ‡ÊȨ̂ÿ •ŸÈ‚Ê⁄U, ¬̋àÿ∑§ ¬̋‡Ÿ ∑§ Á‹∞ ∑§fl‹ ∞∑§ „Ë flÎûÊ ∑§Ê ∑§Ê‹Ê ∑§⁄¥U–  ∞∑§ ‚ •Áœ∑§ flÎûÊ ∑§Ê ∑§Ê‹Ê ∑§⁄UŸ ¬⁄U •Ê¬∑§Ê ©ûÊ⁄U ª‹Ã ◊ÊŸÊ ¡Ê∞ªÊ–
Wrong Method/ª‹Ã ÁflÁœ — Correct Method/‚„Ë ÁflÁœ — 

11. Signature of Invigilator will be done after all the entries are made by the candidate.

¬Á⁄UflˇÊ∑§ ¬⁄UËˇÊÊÕË¸ mÊ⁄UÊ ∑§Ë ªß¸ ‚÷Ë ¬˝ÁflÁc≈UÿÊ¥ ∑§ ©¬⁄UÊãÃ „Ë „SÃÊˇÊ⁄U ∑§⁄¥U–
12. Before beginning to answer the questions please make sure that all the entries in your Answer-Sheet have been duly completed.  Any

carelessness in this regard may jeopardize your chances of selection.

¬˝‡ŸÊ¥ ∑§ ©ûÊ⁄U ŒŸ ‚ ¬„‹ ‚ÈÁŸÁ‡øÃ ∑§⁄U ‹ËÁ¡∞ Á∑§ •Ê¬Ÿ ©ûÊ⁄U-¬Îc∆U ◊¥ ‚÷Ë ¬˝ÁflÁc≈UÿÊ° ÁŸŒ¸‡ÊÊŸÈ‚Ê⁄U ∆UË∑§ ¬˝∑§Ê⁄U ÷⁄U ŒË „Ò¥–  ßŸ◊¥ Á∑§‚Ë ¬˝∑§Ê⁄U ∑§Ë ‹Ê¬⁄UflÊ„Ë ‚
•Ê¬∑§ øÿŸ ◊¥ ’ÊœÊ ¬«∏ ‚∑§ÃË „Ò–

13. Do not spend time on reading all the questions before beginning to answer them.  Try answering the questions one by one and
wherever you are not sure of the answer, pass on to the next question.  Time permitting, you may again tray the left out questions
after completing the whole test.

©ûÊ⁄U ŒŸÊ •Ê⁄Uê÷ ∑§⁄UŸ ‚ ¬Ífl¸ ¬Í⁄UÊ ¬˝‡Ÿ-¬òÊ ¬…∏Ÿ ∑§Ê ¬˝ÿÊ‚ Ÿ ∑§ËÁ¡∞–  Á∑§‚Ë ¬˝‡Ÿ ∑§Ê ©ûÊ⁄U Ÿ •ÊŸ ¬⁄U •ª‹Ê ¬˝‡Ÿ ∑§ËÁ¡∞–  ¬Í⁄UÊ ¬˝‡Ÿ-¬òÊ ∑§⁄UŸ ∑§
’ÊŒ ‚◊ÿ ⁄U„Ÿ ¬⁄U •Ê¬ ¿ÍU≈U „È∞ ¬˝‡Ÿ ¬ÈŸ— ∑§⁄U ‚∑§Ã „Ò¥–

14. Do not talk to or consult with other candidates.  This will lead to disqualification.

•Ê¬‚ ◊¥ ’ÊÃ¥ •ÕflÊ ÁfløÊ⁄U-Áfl◊‡Ê¸ Ÿ ∑§⁄¥U–  •ãÿÕÊ •Ê¬∑§Ë ©ê◊ËŒflÊ⁄UË ‚◊ÊåÃ ∑§⁄U ŒË ¡Ê∞ªË–
15. Do not carry any electronic gadgets or cell phone during the test.  Possession of any such equipment or cell phone will lead to disqualification

of the candidate from the examination.

¬⁄UËˇÊÊ  ∑§ ŒÊÒ⁄UÊŸ Á∑§‚Ë ÷Ë ¬˝∑§Ê⁄U ∑§Ë ß‹Ä≈˛UÊÚÁŸ∑§ ªÒÁ$¡≈U (gadgets) •ÕflÊ ‚‹ »§ÊŸ ‹ ¡ÊŸÊ ◊ŸÊ „Ò–  ∞‚Ë Á∑§‚Ë ÷Ë ¬˝∑§Ê⁄U ∑§Ë ‚ÊœŸ (equipment) •ÕflÊ ‚‹
»§ÊŸ ¬Ê‚ ⁄UπŸ ¬⁄U ©ê◊ËŒflÊ⁄U ∑§Ê •ÿÊÇÿ ∑§⁄UÊ⁄U ÁŒÿÊ ¡ÊÿªÊ–

16. Use of unfair means during the examination will lead to disqualification of the candidate.

¬⁄UËˇÊÊ ∑§ ŒÊÒ⁄UÊŸ •ŸÈÁøÃ ‚ÊœŸ ∑§Ê ¬˝ÿÊª ∑§⁄UŸ ¬⁄U ©ê◊ËŒflÊ⁄U ∑§Ê •ÿÊÇÿ ∑§⁄UÊ⁄U ÁŒÿÊ ¡ÊÿªÊ–
17. In case of variation of any kind in the English and Hindi version of any question(s), the English version will be considered as final.

Á∑§‚Ë ÷Ë ¬˝‡Ÿ (¬˝‡ŸÊ¥) ∑§ •¥ª˝$¡Ë ∞fl¥ Á„ãŒË flÎûÊÊãÃ ◊¥ Á∑§‚Ë ÷Ë ¬˝∑§Ê⁄U ∑§Ê •¥Ã⁄U „ÊŸ ¬⁄U •¥ª˝$¡Ë flÎûÊÊãÃ ∑§Ê ÁŸáÊÊ¸ÿ∑§ ◊ÊŸÊ ¡Ê∞ªÊ–

A
Booklet Series

¬ÈÁSÃ∑§Ê oÎ¥π‹Ê

Question-Booklet Number

¬˝‡Ÿ-¬ÈÁSÃ∑§Ê ∑˝§◊Ê¥∑§



[2]A

1. Average of 5 numbers is  50.  If a new number is added, the average becomes 60.  The new
number is :

5 ‚¥ÅÿÊ•Ê¥ ∑§Ê •ÊÒ‚Ã 50 „Ò–  ÿÁŒU ∞∑§ Ÿÿ •¥∑§ ∑§Ê ¡Ê«∏ Œ¥ ÃÊ, •ÊÒ‚Ã 60 „Ê ¡ÊÃÊ „Ò–  Ÿß¸ ‚¥ÅÿÊ ÿ„ „Ò —

(A) 60 (B) 90 (C) 100 (D) 110

2. If the area of rectangle is 168 cm2, the length and breadth are :

•ª⁄U Á∑§‚Ë •ÊÿÃ ∑§Ê ˇÊòÊ»§‹ 168 cm2  „Ò, ÃÊ ©‚∑§Ë ‹ê’Êß¸ •ÊÒ⁄U øÊÒ«∏Êß¸ ÄÿÊ „Ò¥?

(A) 12, 14 (B) 24, 17 (C) 32, 4 (D) 42, 12

3. What is essential to a directory ?

directory ◊¥ ÄÿÊ •Êfl‡ÿ∑§ „Ò?

(A) telephone (B) listing (C) computer (D) names

4. Choose the figure which is different from the rest.

©‚ ÁøòÊ ∑§Ê øÈŸ¥ ¡Ê •ãÿ ‚ Á÷ÛÊ „Ò–

       (1)   (2)          (3)       (4)           (5)

(A) (1) (B) (2) (C) (3) (D) (4)

5. Which word does NOT belong with the others ?

(A) triangle (B) circle (C) oval (D) sphere

ßŸ◊¥ ‚ ∑§ÊÒŸ ‚Ê ‡ÊéŒ ’◊‹ „Ò?

(A) ÁòÊ∑§ÊáÊ (B) flÎûÊ (C) •á«UÊ∑§Ê⁄U (D) ªÊ‹∑§

6. Choose the figure which is different from the rest.

©‚ ÁøòÊ ∑§Ê øÈŸ¥ ¡Ê •ãÿ ‚ Á÷ÛÊ „Ò–

     (1) (2)          (3)         (4)          (5)

(A) (1) (B) (2) (C) (3) (D) (4)



[3] A

Follow the directions for questions 7-9 :

In a class there are seven students (including boys and girls) A, B, C, D, E, F and G. They sit on
three benches I, II and III. Such that at least two students on each bench and at least one girl on
each bench. C who is a girl student, does not sit with A, E and D. F the boy student sits with only
B. A sits on the bench I with his best friends. G sits on the bench III. E is the brother of  C.

7-9 ¬˝‡ŸÊ¥ ∑§ Á‹ÿ ÁŸŒ̧‡Ê —

Á∑§‚Ë ∑§ˇÊÊ ◊¥ ‚ÊÃ ¿UÊòÊ (‹«∏U∑§ •ÊÒ⁄U ‹«∏UÁ∑§ÿÊ¥ ‚◊Ã)-A, B, C, D, E, F •ÊÒ⁄U G „Ò¥–  fl ÃËŸ ’¥øÊ¥ ∑˝§◊‡Ê— I, II ÃÕÊ III ¬⁄U
’Ò∆UÃ „Ò¥ Á∑§ ∑§◊ ‚ ∑§◊ ŒÊ ¿UÊòÊ ∞∑§ ’¥ø ¬⁄U ’Ò∆¥U •ÊÒ⁄U ∑§◊ ‚ ∑§◊ ∞∑§ ‹«∏∑§Ë ∞∑§ ’¥ø ¬⁄U–  C ¡Ê ∞∑§  ¿UÊòÊÊ „Ò¥, A, E ÃÕÊ
D ∑§ ‚ÊÕ Ÿ„Ë¥ ’Ò∆UÃË–   ∞∑§ ¿UÊòÊ F  ∑§fl‹ B ∑§ ‚ÊÕ ’Ò∆UÃÊ „Ò–   A •¬Ÿ •ë¿U Á◊òÊÊ¥ ∑§ ‚ÊÕ ’¥ø I ¬⁄U ’Ò∆UÃÊ „Ò–  G ’¥ø
III ¬⁄U ’Ò∆UÃÊ „Ò–   E,  C ∑§Ê ÷Êß¸ „Ò–

7. Who sits with C ?

C ∑§ ‚ÊÕ ∑§ÊÒŸ ’Ò∆UÃÊ „Ò ?
(A) B (B) D (C) G (D) E

8. Which of the following is the group of girls ?

ßŸ◊¥ ‚ ∑§ÊÒŸ-‚Ë ‹«∏UÁ∑§ÿÊ¥ ∑§Ê ‚◊Í„ „Ò ?
(A) BAC (B) BFC (C) BCD (D) CDF

9. How many girls are there out of these 7 students ?

(A) 3 (B) 3 or 4 (C) 4 (D) Data inadequate

ßŸ  7 ¿UÊòÊÊ¥ ◊¥ Á∑§ÃŸË ¿UÊòÊÊ∞¥ „Ò¥ ?

(A) 3 (B) 3 ÿÊ 4 (C) 4 (D) •Ê°∑§«∏Ê •¬ÿÊ¸åÃ „Ò

10. Sahara is a type of __________ desert.

(A) Hot (B) Cold (C) Mild (D) Dry

‚„Ê⁄UÊ ∞∑§ ¬˝∑§Ê⁄U ∑§Ê __________  ◊L§SÕ‹ „Ò–

(A) ª⁄U◊ (B) ‡ÊËÃ (C) ◊ÎŒÈ (D) ‡ÊÈc∑§

11. Select a suitable figure from the Answer Figures that would replace the question mark (?).

©ûÊ⁄U ÁøòÊÊ¥ ‚ ©¬ÿÈÄÃ ÁøòÊ øÈŸ¥ ¡Ê ¬˝‡Ÿ Áøq (?) ∑§Ê SÕÊŸ ‹ ‚∑§–

Problem Figures/ ‚◊SÿÊ ÁøòÊ : Answer Figures/©ûÊ⁄U ÁøòÊ :

      (a)           (b)           (c)        (d)        (1)           (2)            (3)          (4)           (5)

(A) (1) (B) (2) (C) (3) (D) (4)



[4]A

12. What does FDI stand for ?

(A) Foreign Direct Investment (B) Future Disinvestment in India

(C) Forest Development Index (D) None of the above

FDI ∑§Ê ÁflSÃÊ⁄U M§¬ ÄÿÊ „Ò?

(A) »§Ê⁄UŸ «ÒU⁄UÄ≈U ßãflS≈˜U◊ã≈U (B) çÿÍø⁄U Á«U‚˜ßãflS≈˜U◊¥≈U ßŸ ßÁã«UÿÊ

(C) »§ÊÚ⁄US≈U «Ufl‹¬◊¥≈U ß¥«UÄ‚ (D) ©¬⁄UÊÄÃ ◊¥ ‚ ∑§Êß¸ Ÿ„Ë¥

13. Saransh is 50 years old and Nazma is 40 years old.  How long ago was the ratio of their ages
3 : 2 ?

‚Ê⁄UÊ¥‡Ê 50 fl·¸ ∑§ „Ò¥ •ÊÒ⁄U Ÿ$¡◊Ê 40 fl·¸ ∑§Ë „Ò–   Á∑§ÃŸ ‚◊ÿ ¬Ífl¸ ©Ÿ∑§Ë •ÊÿÈ ∑§Ê •ŸÈ¬ÊÃ  3 : 2 ÕÊ ?

(A) 25 (B) 20 (C) 15 (D) 10

14. India’s joint naval exercise with Sri Lanka is called :

(A) Indra (B) Desert Storm (C) SLINEX (D) Eagle

÷Ê⁄UÃ •ÊÒ⁄U üÊË‹¥∑§Ê ∑§ ’Ëø ‚¥ÿÈÄÃ ŸÊÒ‚ŸÊ •èÿÊ‚ ∑§Ê ŸÊ◊ —

(A) ßãŒ˝ (B) ◊L§SÕ‹U S≈UÊÚ◊¸ (C) SLINEX (D) ß¸ª‹

15. Choose the correct mirror image of the given figure (X) from amongst the four alternatives.

¬˝ŒûÊ ÁøòÊ (X) ∑§Ë ÁŸêŸ øÊ⁄U Áfl∑§À¬Ê¥ ◊¥ ‚ ‚„Ë Œ¬¸áÊ ¬˝ÁÃÁ’¥’ ∑§Ê øÈŸ¥–

        (X) (1)              (2)                (3)              (4)

(A) (1) (B) (2) (C) (3) (D) (4)

16. Where is India’s cold desert ?

(A) Aksai Chin (B) Anantnag (C) Tawang (D) Ladakh

÷Ê⁄UÃ ∑§Ê ‡ÊËÃ ◊L§SÕ‹ ∑§„Ê° „Ò?

(A) •∑§‚Êß¸ ÁøŸ (B) •Ÿ¥ÃŸÊª (C) ÃflÊ¥ª (D) ‹gÊπ

17. If the ratio of area of two circles is 16 : 25, the ratio of their radii is :

ÿÁŒ ŒÊ flÎûÊÊ¥ ∑§ ˇÊòÊ»§‹ ∑§Ê •ŸÈ¬ÊÃ 16 : 25 „Ò, ÃÊ ©Ÿ∑§Ë ÁòÊíÿÊ ∑§Ê •ŸÈ¬ÊÃ ÄÿÊ „Ò ?

(A) 2 : 5 (B) 4 : 5 (C) 3 : 4 (D) 1 : 3



[5] A

18. Name the new initiative to promote compressed biogas as an alternative fuel.

(A) SAMPADA (B) SATAT (C) SAFAL (D) UDAAN

‚ê¬ËÁ«UÃ ’ÊÿÊªÒ‚ ∑§Ê flÒ∑§ÁÀ¬∑§ ßZœŸ ∑§ M§¬ ◊¥ ¬˝Êà‚Ê„Ÿ ŒŸ ∑§Ë Ÿß¸ ¬„‹ ∑§Ê ŸÊ◊ ÄÿÊ „Ò?

(A) ‚ê¬ŒÊ (B) ‚ÃÃ (C) ‚»§‹ (D) ©«UÊŸ

19. Identify the figure that completes the pattern.

©‚ ÁøòÊ ∑§Ê ¬„øÊŸ¥ ¡Ê ß‚ ¬Ò≈UŸ¸ ∑§Ê ¬Í⁄UÊ ∑§⁄U ‚∑§–

         (X)      (1)               (2)              (3)              (4)

(A) (1) (B) (2) (C) (3) (D) (4)

20. Which of the following is the country’s largest paramilitary force ?

ßŸ◊¥ ‚ ∑§ÊÒŸ‚Ê, Œ‡Ê ∑§Ê ‚’‚ ’«∏Ê •œ¸‚ÒÁŸ∑§ ’‹ „Ò?

(A) BSF (B) CRPF (C) CISF (D) ITBP

21. Alauddin Khilji constructed a Capital in Delhi. What was its name ?

(A) Siri (B) Jahanpanah

(C) Shahjahanabad (D) None of the above

•‹Ê©Œ˜ŒËŸ ÁπÀ¡Ë Ÿ ÁŒÀ‹Ë ◊¥ ⁄UÊ¡œÊŸË ’ŸflÊß¸, ©‚∑§Ê ŸÊ◊ ÄÿÊ „Ò?

(A) Á‚⁄UË (B) ¡„Ê°¬ŸÊ„

(C) ‡ÊÊ„¡„ÊŸÊ’ÊŒ (D) ©¬ÿÈ¸ÄÃ ◊¥ ‚ ∑§Êß¸ Ÿ„Ë¥

22. Which is the largest freshwater lake in the North East ?

(A) Loktak (B) Nokrek (C) Chilika (D) Sambhar

©ûÊ⁄U ¬Ífl¸ ◊¥ ‚’‚ ’«∏Ë ÃÊ¡Ê¡‹ ∑§Ë ¤ÊË‹ „Ò —

(A) ‹Ê∑§≈U∑§ (B) ŸÊÚ∑˝§∑§ (C) ÁøU‹Ë∑§Ê (D)  ‚ê÷Ê⁄U
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23. Where is GIFT City located in India ?

(A) Madhya Pradesh (B) Himachal Pradesh

(C) Gujarat (D) Karnataka

÷Ê⁄UÃ ◊¥ ∑§„Ê° ¬⁄U GIFT City ÁSÕÃ „Ò?

(A) ◊äÿ ¬˝Œ‡Ê (B) Á„◊Êø‹ ¬˝Œ‡Ê

(C) ªÈ¡⁄UÊÃ (D) ∑§ŸÊ¸≈U∑§

24. Complete : 1, 1, 2, 3, 5, 8, ?

¬Í⁄UÊ ∑§⁄¥ U: 1, 1, 2, 3, 5, 8, ?

(A) 12 (B) 13 (C) 14 (D) 15

25. Which of the following is NOT a classical Indian dance form ?

(A) Kuchipudi (B) Kathakali (C) Bharatnatyam (D) Yakshagana

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ-‚Ê ÷Ê⁄UÃËÿ ‡ÊÊSòÊËÿ ŸÎàÿ M§¬U Ÿ„Ë¥ „Ò?

(A) ∑È§øË¬È«UË (B) ∑§Õ∑§‹Ë (C) ÷⁄UÃŸÊ≈˜ÿ◊ (D) ÿˇÊªÊŸ

26. Name the government initiative aimed at holistic development and adequate nutrition of
pregnant women, mothers and children.

(A) PM-AASHA (B) Matritva Sahyog Yojana

(C) MAMTA (D) POSHAN Abhiyaan

ª÷¸flÃË ◊Á„‹Ê•Ê¥, ◊ÊÃÊ•Ê¥ ÃÕÊ ’ìÊÊ¥ ∑§ ‚ê¬ÍáÊ¸ Áfl∑§Ê‚ ÃÕÊ ©Ÿ∑§ ¬ÿÊ¸åÃ ¬Ê·áÊ ¬Á⁄U‹ÁˇÊÃ Á∑§∞ ¡ÊŸ flÊ‹Ë ‚⁄U∑§Ê⁄UË
¬„‹ ∑§Ê ŸÊ◊ ÄÿÊ „Ò?

(A) ¬Ë.∞◊.-•Ê‡ÊÊ (B) ◊ÊÃÎàfl ‚„ÿÊª ÿÊ¡ŸÊ

(C) ◊◊ÃÊ (D) ¬Ê·áÊ •Á÷ÿÊŸ

27. Choose the antonym (opposite) of expand :

expand ‡ÊéŒ ∑§Ê Áfl¬⁄UËÃÊÕ¸∑§ ‡ÊéŒ øÈŸ¥ :

(A) convert (B) condense (C) congest (D) conclude

28. Count the number of rectangles in the given figure.

¬˝SÃÈÃ ÁøòÊ ◊¥ •ÊÿÃÊ¥ ∑§Ë ‚¥ÅÿÊ ÁªŸÃË ∑§ËÁ¡∞–

(A) 20 (B) 18 (C) 16 (D) 15



[7] A

29. Which country has the highest burden of both TB and Multi-drug Resistant TB ?

(A) Pakistan (B) India (C) Sri Lanka (D) Bangladesh

Á∑§‚ Œ‡Ê ¬⁄U TB •ÊÒ⁄U Multi-drug ¬˝ÁÃ⁄UÊœ∑§  TB  ŒÊŸÊ¥ ∑§Ê ‚’‚ ’«∏UÊ Œ’Êfl „Ò?

(A) ¬ÊÁ∑§SÃÊŸ (B) ÷Ê⁄UÃ (C)  üÊË‹¥∑§Ê (D) ’Ê¥Ç‹ÊŒ‡Ê

30. Ritu goes 30 km towards North from a fixed point, then after turning to her right she goes
15 km. After this she goes 30 km after turning to her right.  How far and in what direction is
she from her starting point ?

(A) 45 km, East (B) 15 km, East (C) 45 km, West (D) 45 km, North

∞∑§ ÁŸÁ‡øÃ SÕÊŸ ‚ ⁄UËÃÈ 30 km ©ûÊ⁄U ÁŒ‡ÊÊ ◊¥ ¡ÊÃË „Ò, Á»§⁄U ŒÊÁ„Ÿ ◊È«∏∑§⁄U 15 km ø‹ ¬«∏ÃË „Ò–  ©‚∑§ ’ÊŒ
30 km ŒÊÁ„Ÿ ◊È«∏∑§⁄U ø‹ÃË „Ò– ’ÃÊ∞° fl„ •Ê⁄¥U÷ SÕÊŸ ‚ Á∑§ÃŸË ŒÍ⁄UË ¬⁄U „Ò •ÊÒ⁄U fl„Ê° ‚ ©‚∑§Ë ÁŒ‡ÊÊ ∑§ÊÒŸ‚Ë „Ò?

(A) 45 km, ¬Ífl¸ (B) 15 km, ¬Ífl¸ (C) 45 km, ¬Á‡ø◊ (D) 45 km, ©ûÊ⁄U

31. 9 men finish half of a job in 12 days. How many days will 24 men take to finish the entire
job ?

(A) 9 days (B) 18 days (C) 27 days (D) 36 days

9 •ÊŒ◊Ë Á∑§‚Ë •Êœ ∑§Ê◊ ∑§Ê 12 ÁŒŸÊ¥ ◊¥ ¬Í⁄UÊ ∑§⁄UÃ „Ò¥–  24 •ÊŒ◊Ë ¬Í⁄U ∑§Ê◊ ∑§⁄UŸ ∑§ Á‹ÿ Á∑§ÃŸ ÁŒŸ ‹ªÊ∞°ª?

(A) 9 ÁŒŸ (B) 18 ÁŒŸ (C) 27 ÁŒŸ (D) 36 ÁŒŸ

32. Which country topped the World Happiness Index 2018 ?

(A) Bhutan (B) Finland (C) Ireland (D) USA

2018  ◊¥ flÀ«¸U „Ò¬ËŸ‚ ‚Íø∑§Ê¥∑§ ∑§ ‡ÊË·¸ ¬⁄U ∑§ÊÒŸ ‚Ê Œ‡Ê ⁄U„Ê?

(A) ÷Í≈UÊŸ (B) Á»§Ÿ‹Ò¥«U (C) •Êÿ⁄U‹Ò¥«U (D) ÿÍ.∞‚.∞.

33. Paithani fabric belongs to :

(A) Maharashtra (B) Gujarat (C) Odisha (D) Sikkim

¬Ò∆UÊŸË flSòÊ ‚¥’¥ÁœÃ „Ò —

(A) ◊„Ê⁄UÊc≈˛U (B) ªÈ¡⁄UÊÃ (C) •ÊÁ«U‡ÊÊ (D) Á‚ÁÄ∑§◊
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34. Find the number of triangles in the given figure.

ÁŸêŸ ÁøòÊ ◊¥ ÁòÊ∑§ÊáÊÊ¥ ∑§Ë ‚¥ÅÿÊ ôÊÊÃ ∑§ËÁ¡∞–

(A) 10 (B) 12 (C) 14 (D) 16

35. Find out the alternative figure which contains figure (X) as its part.

∞∑§ flÒ∑§ÁÀ¬∑§ ÁøòÊ øÈŸ¥ Á¡‚◊¥ ÁøòÊ (X) ©‚∑§Ê ∞∑§ Á„S‚Ê „Ê–

(X)           (1)         (2)                (3)              (4)

(A) (1) (B) (2) (C) (3) (D) (4)

36. Which of the following is a string instrument ?

(A) Trumpet (B) Sarangi (C) Tabla (D) Shehnai

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ ‚Ê ÃÊ⁄U flÊl „Ò?

(A) ÃÈ⁄U„Ë (B) ‚Ê⁄¥UªË (C) Ã’‹Ê (D) ‡Ê„ŸÊß¸

37. Who invented the calculator ?

(A) James Watson (B) Henry Anderson

(C) Macmillan Casio (D) Blaise Pascal

∑Ò§ÀÄÿÈ‹≈U⁄U ∑§Ê •ÊÁflc∑§Ê⁄U Á∑§‚Ÿ Á∑§ÿÊ ?

(A) ¡ê‚ flÊ≈˜‚Ÿ (B) „Ÿ⁄UË ∞ã«U‚¸Ÿ

(C) ◊Ò∑§Á◊‹Ÿ ∑§Á‚ÿÊ (D) é‹$¡ ¬ÊS∑§‹

38. Mars Orbiter Mission was launched in :

◊¥ª‹ •ÊÚÁ’¸≈U⁄U •Á÷ÿÊŸ ÁŸêŸ fl·¸ ◊¥ •Ê⁄Uê÷ Á∑§ÿÊ ªÿÊ —

(A) 2017 (B) 2015 (C) 2010 (D) 2013
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39.

(X)             (1)               (2)              (3)             (4)

Choose the box that is similar to the box formed from the given sheet of paper (X).

(A) (1) and (2) only (B) (2), (3) and (4) only

(C) (4) only (D) (3) and (4) only

¬˝SÃÈÃ ∑§Êª$¡ (X) ‚ ’Ÿ ’ÊÚÄ‚ ∑§ ‚◊ÊŸ ’ÊÚÄ‚ ∑§Ê øÈŸ¥ —

(A) ∑§fl‹ (1) ÃÕÊ ( 2) (B) ∑§fl‹ (2), (3) ÃÕÊ (4)

(C) ∑§fl‹ (4) (D) ∑§fl‹ (3) ÃÕÊ (4)

40. Modhera Sun Temple is located in :

(A) Jharkhand (B) Madhya Pradesh

(C) Gujarat (D) Odisha

◊Êœ⁄UÊ ‚Íÿ¸ ◊¥ÁŒ⁄U ÁSÕÃ „Ò —

(A) ¤ÊÊ⁄Uπ¥«U (B) ◊äÿ ¬˝Œ‡Ê

(C) ªÈ¡⁄UÊÃ (D) •ÊÁ«‡ÊÊ

41. India’s first High Speed Rail project will connect :

(A) Mumbai and Delhi (B) Kolkata and Chennai

(C) Hyderabad and Bengaluru (D) Mumbai and Ahmedabad

÷Ê⁄UÃ ∑§Ë ¬˝Õ◊ „Êß S¬Ë«U ⁄U‹ ¬Á⁄UÿÊ¡ŸÊ ßŸ ŒÊ ‡Ê„⁄UÊ¥ ∑§Ê ¡Ê«∏UªË —

(A) ◊Èê’ß¸ •ÊÒ⁄U ÁŒÀ‹Ë (B) ∑§Ê‹∑§ÊÃÊ •ÊÒ⁄U øÛÊß¸

(C) „ÒŒ⁄UÊ’ÊŒ •ÊÒ⁄U ’¥ª‹ÍL§ (D) ◊Èê’ß¸ •ÊÒ⁄U •„◊ŒÊ’ÊŒ

42. Which committee recommended Panchayati Raj system ?

(A) Ashok Mehta Committee (B) Balwant Rai Mehta Committee

(C) Markandey Katju Committee (D) Madhavrao Gadgil Committee

Á∑§‚ ‚Á◊ÁÃ Ÿ ¬¥øÊÿÃ ⁄UÊ¡ ¬˝áÊÊ‹Ë ∑§Ê ¬˝SÃÊfl ⁄UπÊ ?

(A) •‡ÊÊ∑§ ◊„ÃÊ ‚Á◊ÁÃ (B) ’‹flãÃ ⁄UÊÿ ◊„ÃÊ ‚Á◊ÁÃ

(C) ◊Ê∑¸§á«ÿU ∑§à¡Í ‚Á◊ÁÃ (D) ◊Êœfl⁄UÊfl ªÊ«˜UÁª‹ ‚Á◊ÁÃ
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43. Introducing a man, a woman said, “He is the only son of the mother of my mother.” How is
the woman related to the man ?

(A) Mother (B) Sister (C) Niece (D) Maternal aunt

∞∑§ •ÊŒ◊Ë ‚ ¬Á⁄Uøÿ ∑§⁄UÊÃ „È∞, ∞∑§ •ÊÒ⁄UÃ Ÿ ∑§„Ê, ““fl„ ◊⁄UË ◊ÊÃÊ ∑§Ë ◊Ê° ∑§Ê ∞∑§‹ÊÒÃÊ ¬ÈòÊ „Ò–””  fl„ •ÊÒ⁄UÃ ©‚
•ÊŒ◊Ë ‚ Á∑§‚ ¬˝∑§Ê⁄ ‚¥’¥ÁœÃ „Ò ?

(A) ◊Ê° (B) ’„Ÿ (C) ÷Ê°¡Ë (D) ◊ÊÒ‚Ë

44. Wular Lake is located in :

(A) Kerala (B) Bihar

(C) Himachal Pradesh (D) Jammu and Kashmir

flÈ‹⁄U ¤ÊË‹ ÁŸêŸ ¬˝Œ‡Ê ◊¥ „Ò —

(A) ∑§⁄U‹ (B) Á’„Ê⁄U

(C) Á„◊Êø‹ ¬˝Œ‡Ê (D) ¡ê◊Í •ÊÒ⁄U ∑§‡◊Ë⁄U

45. Separate electorates for Muslims were introduced in the :

(A) Morley-Minto Reforms 1909

(B) Montague-Chelmsford Reforms 1919

(C) Government of India Act 1935

(D) None of the above

◊ÈÁS‹◊Ê¥ ∑§ Á‹∞ •‹ª ‚ ÁŸflÊ¸øŸ ˇÊòÊ ∑§Ë ‡ÊÈL§•ÊÃ Á∑§‚‚ „Èß¸?

(A) ◊Ê‹¸ - Á◊¥≈UÊ ‚ÈœÊ⁄U 1909

(B) ◊ÊÚã≈UÇÿÈ - øê‚»§Ê«¸U ‚ÈœÊ⁄U 1919

(C) ÷Ê⁄UÃ ‚⁄U∑§Ê⁄U •ÁœÁŸÿ◊ 1935

(D) ©¬ÿ¸ÈÄÃ ◊¥ ‚ ∑§Êß¸ Ÿ„Ë¥

46. Identify the figure that completes the pattern.

ß‚ ¬Ò≈UŸ¸ ∑§Ê ¬Í⁄UÊ ∑§⁄UŸ flÊ‹ ÁøòÊ ∑§Ê ¬„øÊŸ¥–

                    (X)                           (1)              (2)              (3)               (4)

(A) (1) (B) (2) (C) (3) (D) (4)
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47. River : Ocean

(A) Child : School (B) Book : Library (C) Lane : Road (D) Cloth : Body

ŸŒË :  ◊„Ê‚Êª⁄U

(A) Á‡Ê‡ÊÈ : ÁfllÊ‹ÿ (B) Á∑§ÃÊ’ : ¬ÈSÃ∑§Ê‹ÿ (C) ª‹Ë : ‚«∏∑§ (D) ∑§¬«∏UÊ : ‡Ê⁄UË⁄U

48. 20% milk is present in a solution of milk and water. If the mixture is mixed with an equal
quantity of water, the concentration of water in the final solution will be ?

ŒÍœ •ÊÒ⁄U ¬ÊŸË ∑§ Á∑§‚Ë Á◊üÊáÊ ◊¥ 20% ŒÍœ „Ò–  ÿÁŒ ©‚ Á◊üÊáÊ ◊¥ ‚◊ÊŸ ◊ÊòÊÊ ◊¥ ¬ÊŸË Á◊‹ÊÿÊ ¡Ê∞, Ã’ ¬Á⁄UáÊÊ◊Ë
Áfl‹ÿŸ ◊¥ ¬ÊŸË ∑§Ë ◊ÊòÊÊ ÁŸêŸ „ÊªË ?

(A) 10% (B) 15% (C) 85% (D) 90%

49. Select a suitable figure from the four alternatives that would complete the figure matrix.

ÁŸêŸ øÊ⁄U Áfl∑§À¬Ê¥ ◊¥ ‚ ÁøòÊ ◊ÒÁ≈˛UÄ‚ ∑§Ê ¬Í⁄UÊ ∑§⁄UŸ ∑§ Á‹ÿ ©¬ÿÈÄÃ ÁøòÊ øÈŸ¥–

 

    (1)      (2)     (3)     (4)

(A) (1) (B) (2) (C) (3) (D) (4)

50. A train passes through a telegraph post in 9 seconds moving with a speed of
54 km per hour.  The length of the train is :

(A) 130 m (B) 132 m (C) 135 m (D) 140 m

54 Á∑§.◊Ë./ÉÊ¥≈UÊ ‚ ŒÊÒ«∏UÃË ∞∑§ ⁄U‹ ªÊ«∏UË 9 ‚∑§á«U ◊¥ Á∑§‚Ë ≈UÁ‹ª˝Ê»§ π¥÷ ∑§Ê ¬Ê⁄U ∑§⁄U ¡ÊÃË „Ò–  ⁄U‹ªÊ«∏Ë ∑§Ë ‹ê’Êß¸
„Ò —

(A) 130 ◊Ë. (B) 132 ◊Ë. (C) 135 ◊Ë. (D) 140 ◊Ë.

51. Choose the synonym (same meaning) of distant :

distant ∑§Ê ‚◊ÊŸÊÕ¸∑§ ‡ÊéŒ øÈŸ¥ —

(A) far (B) removed (C) reserved (D) separate
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52. Where is Hirakud Dam located ?

(A) Odisha (B) Assam (C) Gujarat (D) Andhra Pradesh

Á„⁄UÊ∑È§«U ’Ê°œ ∑§„Ê° ÁSÕÃ „Ò?

(A) •ÊÁ«∏U‡ÊÊ (B) •‚◊ (C) ªÈ¡⁄UÊÃ (D) •Ê¥œ˝ ¬˝Œ‡Ê

53. What is the smallest number that must be added to 52 to make it divisible by 3 ?

52 ◊¥ Á∑§‚ ‹ÉÊÈûÊ◊ ‚¥ÅÿÊ ¡Ê«∏UÊ ¡Ê ‚∑§ÃÊ „Ò  ÃÊÁ∑§ 3 ‚ ÷Êª Á∑§ÿÊ ¡Ê ‚∑§?

(A) 1 (B) 2 (C) 9 (D) 3

54. LCM of 16, 20, 24 is :

16, 20, 24 ∑§Ê LCM ÄÿÊ „ÊªÊ?

(A) 220 (B) 264 (C) 240 (D) 222

55. What is H-1B ?

(A) A disease

(B) A type of form for Income Tax returns

(C) A new payment technology

(D) Work visa for USA

 H-1B ÄÿÊ „Ò ?

(A) ∞∑§ ⁄UÊª

(B) •Êÿ∑§⁄U ÷È∑§ÃÊŸ ∑§ Á‹∞ ∞∑§ ¬øÊ¸

(C) ÷ÈªÃÊŸ ∑§⁄UŸ ∑§Ë ∞∑§ Ÿß¸ ≈UÄŸÊ‹ÊÚ¡Ë

(D) ÿÍ.∞‚.∞. ∑§ Á‹ÿ ∑§Êÿ¸∑§Ê⁄UË flË¡Ê

56. Which of the following places is associated with Indus Valley Civilisation ?

(A) Harappa (B) Mohenjo-Daro

(C) Dholavira (D) All of the above

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ‚Ê SÕÊŸ Á‚¥œÈ ÉÊÊ≈UË ‚èÿÃÊ ‚ ‚¥’¥ÁœÃ „Ò?

(A) „«∏å¬Ê (B) ◊Ê„¥¡ÊŒÊ«∏Ê

(C) œÊ‹ÊÁfl⁄UÊ (D) ©¬ÿ¸ÈÄÃ ◊¥ ‚ ∑§Êß¸ Ÿ„Ë¥
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57. Which of the following is matched INCORRECTLY ?

(A) Bhonsle - Nagpur (B) Holkar - Indore

(C) Scindia - Baroda (D) None of the above

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ-‚Ê •‚È◊Á‹Ã „Ò?

(A) ÷Ê¥‚‹ - ŸÊª¬È⁄U (B) „Ê‹∑§⁄U - ß¥ŒÊÒ⁄U

(C) Á‚¥œËÿÊ - ’«UUÊÒŒÊ (D) ©¬ÿ¸ÈÄÃ ◊¥ ‚ ∑§Êß¸ Ÿ„Ë¥

58. Who was the first Mughal ruler in India ?

(A) Chengis Khan (B) Humayun (C) Akbar (D) Babur

÷Ê⁄UÃ ◊¥ ¬„‹Ê ◊Èª‹ ‡ÊÊ‚∑§U ∑§ÊÒŸ ÕÊ?

(A) ø¥Áª‚ πÊŸ (B) „È◊Êÿ°Í (C) •∑§’⁄U (D) ’Ê’⁄U

59. Recently, the rural part of a state was declared ODF (Open Defecation Free). Name the state.

(A) Jharkhand (B) West Bengal (C) Gujarat (D) Haryana

„Ê‹ „Ë ◊¥, ∞∑§ ⁄UÊíÿ ∑§ ª˝Ê◊ËáÊ ß‹Ê∑§ ∑§Ê πÈ‹ ◊¥ ‡ÊÊÒø ◊ÈÄÃ ÉÊÊÁ·Ã Á∑§ÿÊ ªÿÊ „Ò, ©‚ ⁄UÊíÿ ∑§Ê ŸÊ◊ ÄÿÊ „Ò?

(A) ¤ÊÊ⁄Uπá«U (B) ¬Á‡ø◊ ’¥ªÊ‹ (C) ªÈ¡⁄UÊÃ (D) „Á⁄UÿÊáÊÊ

60. Choose the alternative which is closely resembles the mirror image of the given  combination.

¬˝ŒûÊ ‚¥ÿÊ¡Ÿ ‚ Œ¬¸áÊ ¬˝ÁÃÁ’¥’ ∑§ ‚ÊÕ ÁŸ∑§≈UÃÊ ‚ ◊‹ πÊÃ Áfl∑§À¬ ∑§Ê øÈŸ¥ —

(1) (2) (3) (4)

(A) (1) (B) (2) (C) (3) (D) (4)

61. What are also called “limbs of the vedas” ?

(A) Puranas (B) Upanishads (C) Vedangas (D) Aranyakas

“flŒ ∑§ •flÿfl” Á∑§‚ ∑§„Ã „Ò¥?

(A) ¬È⁄UÊáÊ (B) ©¬ÁŸ·Œ (C) flŒÊ¥ª (D) •⁄áÿ∑§Ê

62. Goiter is caused by deficiency of :

(A) Iron (B) Iodine (C) Phosphorous (D) Calcium

ÉÊÉÊÊ ÁŸêŸ ∑§Ë ∑§◊Ë ‚ „ÊÃÊ „Ò —

(A) ‹Ê„Ê (B) •ÊÿÊ«UËŸ (C) »§ÊÚS»§Ê⁄U‚ (D) ∑Ò§ÁÀ‡Êÿ◊
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63. Bandipur Tiger Reserve is in :

(A) Rajasthan (B) Madhya Pradesh

(C) Kerala (D) Karnataka

’ã«UË¬È⁄U ≈UÊß¸Uª⁄U •÷ÿÊ⁄Uáÿ ∑§„Ê°  „Ò?

(A) ⁄UÊ¡SÕÊŸ (B) ◊äÿ ¬˝Œ‡Ê

(C) ∑§⁄U‹ (D) ∑§ŸÊ¸≈U∑§

64. Which event caused the Congress to divide into Moderates and Extremists ?

(A) Partition of Bengal

(B) Surat Split

(C) Shifting of capital from Kolkata to Delhi

(D) None of the above

Á∑§‚ ÉÊ≈UŸÊ ∑§ ∑§Ê⁄UáÊ ∑§Ê¥ª˝‚ Ÿ⁄U◊Œ‹ ÃÕÊ ©ª˝Œ‹ ◊¥ Áfl÷ÊÁ¡Ã „È•Ê?

(A) ’¥ªÊ‹ ∑§Ê Áfl÷Ê¡Ÿ

(B) ‚È⁄UÃ ∑§Ê Áfl÷Ê¡Ÿ

(C) ∑§Ê‹∑§ÊÃÊ ‚ ÁŒÀ‹Ë ⁄UÊ¡œÊŸË ∑§Ê SÕÊŸÊ¥Ã⁄UáÊ

(D) ©¬ÿÈ¸ÄÃ ◊¥ ‚ ∑§Êß¸ Ÿ„Ë¥

65. When is International Women’s Day celebrated ?

(A) March 8 (B) May  30 (C) June 3 (D) July 12

•ãÃ⁄UÊ¸c≈U˛Ëÿ ◊Á„‹Ê ÁŒfl‚ ∑§’ ◊ŸÊÿÊ ¡ÊÃÊ „Ò?

(A) ◊Êø¸ 8 (B) ◊ß¸  30 (C) ¡ÍŸ  3 (D) ¡È‹Êß¸  12

66. Muhammad bin Tughlaq tried changing the capital from Delhi to :

(A) Lahore (B) Daulatabad

(C) Panipat (D) None of the above

◊È„ê◊Œ Á’Ÿ ÃÈÉÊ‹∑§ •¬ŸË ⁄UÊ¡œÊŸË ÁŒÀ‹Ë ‚ ∑§„Ê° ‹ ¡ÊŸÊ øÊ„ÃÊ ÕÊ?

(A) ‹Ê„Ê⁄U (B) ŒÊÒ‹ÃÊ’ÊŒ

(C) ¬ÊÁŸ¬Ã (D) ©¬ÿ¸ÈÄÃ ◊¥ ‚ ∑§Êß¸ Ÿ„Ë¥

67. Find the number if 12% of it is 60.

ÿÁŒ Á∑§‚Ë ‚¥ÅÿÊ ∑§Ê 12%,  60 „Ò, ÃÊ ‚¥ÅÿÊ ’ÃÊ∞°–

(A) 300 (B) 350 (C) 450 (D) 500
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68. Choose the word which is different from the rest.

(A) Electricity (B) Telephone (C) Telegram (D) Post

©‚ ‡ÊéŒ ∑§Ê øÈŸ¥ ¡Ê •ãÿ ‚ Á÷ÛÊ „Ò–

(A) Á’¡‹Ë (B) ≈UÁ‹»§ÊŸ (C) ≈UÁ‹ª˝Ê◊ (D) «UÊ∑§

69. An aeroplane covers a certain distance at a speed of 240 kmph in 5 hours. To cover the same
distance in 1.667 hours, it must travel at a speed of (in kmph) ?

5 ÉÊ¥≈UÊ¥ ◊¥ ∑§Êß¸ „flÊß¸ ¡„Ê$¡ 240 kmph  ¬⁄U ÁŸÁ‡øÃ ŒÍ⁄UË Ãÿ ∑§⁄UÃÊ „Ò, ©‚Ë ŒÍ⁄UË ∑§Ê  1.667 ÉÊ¥≈UÊ¥ ◊¥ Ãÿ ∑§⁄UŸ ∑§ Á‹∞
©‚ Á∑§ÃŸË ªÁÃ ‚ ø‹ŸÊ •Êfl‡ÿ∑§ „Ò (kmph ◊¥)?

(A) 420 (B) 520 (C) 600 (D) 720

70.

     (X)       (Y)      (Z)

Three different positions (X), (Y) and (Z) of a dice are shown in the figures given above.
Which number lies at the bottom face in position (X) ?

(A) 2 (B) 3

(C) 6 (D) Cannot be determined

Á∑§‚Ë ¬Ê‚ ∑§ ÃËŸ ÁflÁ÷ÛÊ ÁSÕÁÃÿÊ° (X), (Y) •ÊÒ⁄U (Z) ÁøòÊ ◊¥ Œ‡ÊÊ¸ÿÊ ªÿÊ „Ò –  (X) ÁSÕÁÃ ◊¥ Ã‹ ◊Èπ ¬⁄U
∑§ÊÒŸ ‚Ê •¥∑§ „ÊªÊ?

(A) 2 (B) 3

(C) 6 (D)  ÁŸœÊ¸Á⁄UÃ Ÿ„Ë¥ Á∑§ÿÊ ¡Ê ‚∑§ÃÊ

71. Where is the Hambantota Port being constructed ?

(A) Iran (B) Pakistan (C) Myanmar (D) Sri Lanka

„ê’Ÿ≈UÊ≈UÊ ’ãŒ⁄UªÊ„ ∑§Ê ÁŸ◊Ê¸áÊ ∑§„Ê° ø‹ ⁄U„Ê „Ò?

(A) ß¸⁄UÊŸ (B) ¬ÊÁ∑§SÃÊŸ (C) êÿÊ¥◊Ê⁄U (D) üÊË‹¥∑§Ê

72. Complete : 3, 2, 7, 6, 11, ?

¬Í⁄UÊ ∑§⁄¥U : 3, 2, 7, 6, 11, ?

(A) 13 (B) 8 (C) 4 (D) 10
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73. Name the capital of Jordan.

(A) Amman (B) Irbid (C) Damishq (D) Tripoli

¡Ê«¸UŸ ∑§Ë ⁄UÊ¡œÊŸË „Ò —

(A) •◊ÊŸ (B) ß⁄U’ËŒ (C) Œ◊Ë‡∑§ (D) ÁòÊ¬Ê‹Ë

74. The sum of the present ages of a father and his son is 60 years. Five years ago, father’s age
was four times the age of the son.  So now the son’s age will be :

Á¬ÃÊ •ÊÒ⁄U ¬ÈòÊ ∑§Ë flÃ¸◊ÊŸ •ÊÿÈ ∑§Ê ÿÊª 60 fl·¸ „Ò–  ¬Ê°ø fl·¸ ¬Ífl¸ Á¬ÃÊ ∑§Ë •ÊÿÈ ¬ÈòÊ ∑§Ë •ÊÿÈ ∑§Ê øÊ⁄U ªÈŸÊ ÕÊ, ÃÊ •’
¬ÈòÊ ∑§Ë •ÊÿÈ „ÊªË —

(A) 10 (B) 12 (C) 15 (D) 20

75. Svetambaras and Digambaras are sects belonging to :

(A) Buddhism (B) Jainism

(C) Zoroastrians (D) None of the above

‡flÃÊ¥’⁄U •ÊÒ⁄U ÁŒª¥’⁄U ‚¥¬˝ŒÊÿ ‚¥’¥ÁœÃ „Ò —

(A) ’ÊÒh œ◊¸ ‚ (B) ¡ÒŸ œ◊¸ ‚

(C) ¡Ê⁄UÊÁS≈˛Uÿã‚ ‚ (D) ©¬⁄UÊÄÃ ◊¥ ‚ ∑§Êß¸ Ÿ„Ë¥

76. Who is the author of the book “War and Peace” ?

(A) Mark Twain (B)  Leo Tolstoy

(C) Charles Dickens (D) William Shakespeare

“War and Peace” Á∑§ÃÊ’ ∑§ ‹π∑§ ∑§ÊÒŸ „Ò¥?

(A) ◊Ê∑¸§ ≈˜flÒŸ (B) Á‹ÿÊ ≈UÊÚÀ‚≈UÊÚÿ

(C) øÊÀ‚¸ Á«U∑§ã‚ (D) ÁflÁ‹ÿ◊ ‡ÊÄ‚Á¬ÿ⁄U

77. Dengue is caused by :

(A) Mosquitoes (B) Rats (C) Flies (D) Bats

«¥UªÍ ß‚ ∑§Ê⁄UáÊ ‚ „ÊÃÊ „Ò —

(A) ◊ë¿U⁄U (B) øÍ„ (C) ◊ÁÄπÿÊ¥ (D) ø◊ªÊŒ«∏



[17] A

78. What is the name of the bank constituted by the BRICS nations ?

(A) Asian Infrastructure and Investment Bank

(B) Asian Development Bank

(C) New Development Bank

(D) None of the above

BRICS Œ‡ÊÊ¥ mÊ⁄UÊ SÕÊÁ¬Ã ’Ò¥∑§ ∑§Ê ŸÊ◊ ÄÿÊ „Ò?
(A) ∞Á‡ÊÿŸ ßã»˝§ÊS≈˛UÄø⁄UU ∞á« ßãflS≈U˜◊¥≈U ’Ò¥∑§

(B) ∞Á‡ÊÿŸ «Ufl‹¬◊¥≈U ’Ò¥∑§

(C) ãÿÍ «Ufl‹¬◊¥≈U ’Ò¥∑§
(D) ©¬⁄UÊÄÃ ◊¥ ‚ ∑§Êß¸ Ÿ„Ë¥

79. Water suitable for drinking is called :

(A) Potable water (B) Packed water

(C) Mineral water (D) None of the above

¬ËŸ ÿÊÇÿ ¡‹ ∑§Ê ÿ„ ∑§„Ê ¡ÊÃÊ „Ò :

(A) ¬ÿ ¡‹ (B) ¬ÒÄ«U ¡‹
(C) πÁŸ¡ ¡‹ (D) ©¬⁄UÊÄÃ ◊¥ ‚ ∑§Êß¸ Ÿ„Ë¥

80. Which of the following diagrams indicates the best relation between Class, Blackboard and
School ?

ÁŸêŸ ◊¥ ‚ ∑§ÊÒŸ ‚Ê ÁøòÊ ∑§ˇÊÊ, ‡ÿÊ◊¬^ •ÊÒ⁄U ÁfllÊ‹ÿ ∑§Ê ’„Ã⁄UËŸ Ã⁄UË∑§ ‚ ‚¥’¥œ Œ‡ÊÊ¸ÃÊ „Ò ?

(A) (B)

(C) (D)

81. Pointing to Gopi, Nalini says, “I am the daughter of the only son of his grandfather.” How
Nalini is related to Gopi ?

(A) Niece (B) Daughter

(C) Sister (D) Cannot be determined

ªÊ¬Ë ∑§Ë •Ê⁄U ‚¥∑§Ã ∑§⁄UÃ „È∞, ŸÁ‹ŸË ∑§„ÃË „Ò, ““◊Ò¥ ©Ÿ∑§ ŒÊŒÊ¡Ë ∑§ ∞∑§‹ÊÒÃ ¬ÈòÊ ∑§Ë ’≈UË „Í°–”” ’ÃÊ∞° ŸÁ‹ŸË ªÊ¬Ë
‚ ∑Ò§‚ ‚¥’¥ÁœÃ „Ò ?
(A) ÷Ê°¡Ë (B) ’≈UË

(C)   ’„Ÿ (D) ÁŸœÊ¸Á⁄UÃ Ÿ„Ë¥ Á∑§ÿÊ ¡Ê ‚∑§ÃÊ
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82. Choose a figure which would most closely resemble the unfolded form of Figure (Z).

ÁøòÊ (Z) ∑§Ë πÈ‹Ë •Ê∑Î§ÁÃ ‚ Á◊‹ÃÊ ¡È‹ÃÊ ÁøòÊ øÈŸ¥ —

      (X)        (Y)        (Z)

       (1)        (2)         (3)         (4)

(A) (1) (B) (2) (C) (3) (D) (4)

83. Tarun got 30% concession on the labelled price of an article and sold it for ` 8750 with
25% profit on the price he bought. What was the labelled price ?

(A) 12,000 (B) 11,000

(C) 10,000 (D) None of the above

ÃL§áÊ ∑§Ê Á∑§‚Ë flSÃÈ ∑§ •¥Á∑§Ã ◊ÍÀÿ ¬⁄U 30% ¿ÍU≈U Á◊‹Ë •ÊÒ⁄U fl„ ©‚ flSÃÈ ∑§Ê ` 8750 ¬⁄U ’ø∑§⁄U  25% ‹Ê÷ ¬˝ÊåÃ
Á∑§ÿÊ–  ’ÃÊß∞ ©‚ flSÃÈ ∑§Ê •¥Á∑§Ã ◊ÍÀÿ ÄÿÊ „Ò?

(A) 12,000 (B) 11,000

(C) 10,000 (D) ©¬⁄UÊÄÃ ◊¥ ‚ ∑§Êß¸ Ÿ„Ë¥

84. A housing society requires residents to pay some money every month for maintenance of
their apartments.  The amounts paid depend on the size of the apartments.  Find the average
amount paid by all residents in 1 month.

∞∑§ „Ê©Á‚¥ª ‚Ê‚Êß≈UË øÊ„ÃË „Ò Á∑§ •¬Ê≈¸◊ã≈˜‚ ◊¥ ⁄U„ ⁄U„ ‹Êª ⁄Uπ⁄UπÊfl ∑§ Á‹ÿ ¬˝ÁÃ ◊Ê„ ∑È§¿U ⁄U∑§◊ Œ¥– ⁄U∑§◊
•¬Ê≈¸◊ã≈˜‚ ∑§ ‚Êß$¡ ¬⁄U ÁŸ÷¸⁄U „Ò– ’ÃÊ∞° 1 ◊Ê„ ◊¥ •ÊflÊ‚Ëÿ ‹Êª •ÊÒ‚Ã Á∑§ÃŸË ⁄U∑§◊ ŒË „ÊªË?

Size of Apartment /•¬Ê≈◊̧ã≈U ∑§Ê ‚Êß¤Ê  2 BHK 3 BHK 4 BHK 5 BHK Penthouse

Amount/month / ⁄U∑§◊ / ◊Ê„ ` 1000 ` 2000 ` 4000 ` 10,000 ` 20,000

No. of Apartments / •¬Ê≈◊̧ã≈Ũ‚U ∑§Ë ‚¥ïÿÊ 10 8 4 2 1

(A) `  4,450 (B) ` 3,280 (C) `  5,432 (D) ` 6,279

‚¥ÅÿÊ
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85. Akhil ranked seventeenth from the top and thirty seventh from the bottom in a class.  How
many students are there in the class ?

Á∑§‚Ë ∑§ˇÊÊ ◊¥ •Áπ‹ ∑§Ê ™§¬⁄U ‚ ‚òÊ„flÊ° SÕÊŸ „Ò •ÊÒ⁄U ŸËø ‚ ‚Ò¥ÃË‚flÊ° SÕÊŸ „Ò–  ∑§ˇÊÊ ◊¥ Á∑§ÃŸ ¿UÊòÊ „Ò¥?
(A) 53 (B) 45 (C) 54 (D) 52

86. ‘Metal’ is related to ‘Conduction’ in the same way as ‘Plastic’ is related to :

(A) Ground oil chemistry (B) Industry

(C) Inflammability (D) Insulation

“œÊÃÈ” Á¡‚ ¬˝∑§Ê⁄U  “‚¥fl„Ÿ” ‚ ‚¥’¥ÁœÃ „Ò, ©‚Ë ¬˝∑§Ê⁄U “å‹ÊÁS≈U∑§” ÁŸêŸ ‚ ‚¥’¥ÁœÃ „Ò :

(A) ª˝Ê©ã«U •ÊÚß‹ ∑§Á◊S≈˛UË (B) ©lÊª

(C) ífl‹Ÿ‡ÊË‹ÃÊ (D) ¬ÎÕÄ∑§⁄UáÊ

87. Which of the following is a subordinate court ?

(A) High Court (B) Supreme Court

(C) National Green Tribunal (D) District and Sessions Court

ßŸ◊¥ ‚ ∑§ÊÒŸ‚Ë ÁŸø‹Ë •ŒÊ‹Ã „Ò ?

(A) ©ìÊ ãÿÊÿÊ‹ÿ (B) ‚flÊ¸ìÊ ãÿÊÿÊ‹ÿ

(C) Ÿ‡ÊŸ‹ ª˝ËŸ Á≈˛U’ÈŸ‹ (D) Á$¡‹Ê ∞fl¥ ‚òÊ ãÿÊÿÊ‹ÿ

88.

In an organization of pollution control board, engineers are represented by a circle,
legal experts by a square and environmentalist by a triangle.  Who is most represented in
the board as shown in the following figure ?

(A) Environmentalists

(B) Legal Experts

(C) Engineers with legal background

(D) Environmentalists with Engineering background

¬˝ŒÍ·áÊ ÁŸÿ¥òÊáÊ ’Ê«¸U ∑§Ë ∞∑§ ‚¥SÕÊŸ ◊¥ ß¥¡ËÁŸÿ⁄U ∑§Ê flÎûÊ ‚ ¬˝ÁÃÁŸÁœàfl Á∑§ÿÊ ¡ÊÃÊ „Ò, ÁflÁœ∑§ Áfl‡Ê·ôÊ ∑§Ê ‚◊∑§ÊáÊ

mÊ⁄UÊ •ÊÒ⁄U ¬ÿÊ¸fl⁄UáÊÁflŒ˜ ∑§Ê ÁòÊ∑§ÊáÊ mÊ⁄UÊ–  ÁøòÊ ◊¥ ’Ê«¸U ¬⁄U ‚flÊ¸Áœ∑§ ¬˝ÁÃÁŸÁœàfl ∑§⁄UŸ flÊ‹ ∑§ÊÒŸ „Ò¥?

(A) ¬ÿÊ¸fl⁄UáÊÁflŒ˜

(B) ÁflÁœ∑§ Áfl‡Ê·ôÊ

(C) ÁflÁœ∑§ ¬Îc∆U÷ÍÁ◊ ∑§ ß¥¡ËÁŸÿ⁄

(D) ß¥¡ËÁŸÿÁ⁄¥Uª ¬Îc∆U÷ÍÁ◊ ∑§ ¬ÿÊ¸fl⁄UáÊÁflŒ˜
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89.

    (i)     (ii)

Two positions of a cube are shown above. When the number 4 will be at the bottom, then
which number will be at the top ?

(A) 3 (B) 5

(C) 6 (D) Cannot be determined

™§¬⁄U Á∑§‚Ë ÉÊŸÊ∑§Ê⁄U ∑§Ë§ ŒÊ ÁSÕÁÃÿÊ°  Œ‡ÊÊ¸ß¸ ªß¸ „Ò–  ¡’ •¥∑§ 4 Ã‹ ¬⁄U „ÊªÊ Ã’ ∑§ÊÒŸ ‚Ê •¥∑§ ‡ÊË·¸ ¬⁄U „ÊªÊ?

(A) 3 (B) 5

(C) 6 (D) ÁŸœÊ¸Á⁄UÃ Ÿ„Ë¥ Á∑§ÿÊ ¡Ê ‚∑§ÃÊ

90. Which organisation replaced the Planning Commission ?

(A) Think Tank (B) NITI Aayog

(C) IDSA (D) None of the above

Á∑§‚ ‚¥SÕÊ Ÿ ÿÊ¡ŸÊ •ÊÿÊª ∑§Ê SÕÊŸ Á‹ÿÊ „Ò?

(A) ÁÕ¥∑§ ≈Ò¥U∑§ (B) ŸËÁÃ •ÊÿÊª

(C) IDSA (D) ©¬⁄UÊÄÃ ◊¥ ‚ ∑§Êß¸ Ÿ„Ë¥

91. Find the number of ways in which the letters of the word BIHAR can be rearranged.

BIHAR ‡ÊéŒ ∑§ •ˇÊ⁄UÊ¥ ∑§Ê Á∑§ÃŸ Ã⁄UË∑§ ‚ ‚¡ÊÿÊ ¡Ê ‚∑§ÃÊ „Ò?

(A) 99 (B) 129 (C) 119 (D) 125

92. Mixture of two metals is known as :

(A) Metalloid (B) Alloy

(C) Metamix (D) None of the above

ŒÊ œÊÃÈ•Ê¥ ∑§ Á◊üÊáÊ ∑§Ê ∑§„Ê ¡ÊÃÊ „Ò —

(A) ◊≈UÊ‹ÊÚÿ«U (B) ∞‹ÊÚÿ

(C) ◊≈UÊÁ◊Ä‚ (D) ©¬⁄UÊÄÃ ◊¥ ‚ ∑§Êß¸ Ÿ„Ë¥
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93. The average temperature on Monday and Tuesday was 25°C, average temperature for
Wednesday and Thursday was 27°C, average temperature on Friday and Saturday was
24°C and temperature on Sunday was 24°C.  Find the average temperature for the entire
week.

‚Ê◊flÊ⁄U ÃÕÊ ◊¥ª‹flÊ⁄U ∑§Ê •ÊÒ‚Ã ÃÊ¬◊ÊŸ 25°C „Ò, ’ÈœflÊ⁄U ÃÕÊ ªÈL§flÊ⁄U ∑§Ê •ÊÒ‚Ã ÃÊ¬◊ÊŸ  27°C „Ò, ‡ÊÈ∑˝§flÊ⁄U •ÊÒ⁄U
‡ÊÁŸflÊ⁄U ∑§Ê •ÊÒ‚Ã ÃÊ¬◊ÊŸ 24°C „Ò •ÊÒ⁄U ⁄UÁflflÊ⁄U ∑§ ÁŒŸ ÃÊ¬◊ÊŸ 24°C „Ò –  ß‚ ¬Í⁄U „çÃ ∑§Ê •ÊÒ‚Ã ÃÊ¬◊ÊŸ ÄÿÊ „Ò?

(A) 25.1°C (B) 26.3°C (C)  22.5°C (D)  23.7°C

94. Who wrote the book “Discovery of India” ?

(A) GK Gokhale (B) Lala Lajpat Rai

(C) Jawaharlal Nehru (D) Mahatma Gandhi

“Á«US∑§fl⁄UË •ÊÚ»§ ß¥Á«UÿÊ” ¬ÈSÃ∑§ ∑§ ‹π∑§ ∑§ÊÒŸ „Ò¥?

(A) ¡Ë.∑§. ªÊπ‹ (B) ‹Ê‹Ê ‹Ê¡¬Ã ⁄UÊÿ

(C) ¡flÊ„⁄U‹Ê‹ Ÿ„M§ (D) ◊„Êà◊Ê ªÊ¥œË

95. Who aided the formation of the Indian National Congress ?

(A) A.O. Hume (B) Annie Besant

(C) Mahatma Gandhi (D) Lord Linlithgow

÷Ê⁄UÃËÿ ⁄UÊc≈˛UËÿ ∑§Ê°ª˝‚ ∑§ ª∆UŸ ◊¥ Á∑§‚Ÿ ‚„ÊÿÃÊ ∑§Ë?

(A) ∞.•Ê. „KÈ◊ (B) ∞ŸË ’‚¥≈U

(C) ◊„Êà◊Ê ªÊ¥œË (D) ‹ÊÚ«¸U Á‹ŸÁ‹ÕªÊU

96. Fundamental duties are listed in Article :

◊ÊÒÁ‹∑§ ∑§Ã¸√ÿÊ¥ ∑§Ê ÁŸêŸ •ŸÈë¿UŒÊ¥ ◊¥ ‡ÊÊÁ◊‹ Á∑§ÿÊ ªÿÊ „Ò —

(A) 24 (B) 51-A (C) 36 (D) 41

97. India recently signed the COMCASA agreement with :

(A) China (B) Russia (C) EU (D) USA

„Ê‹ „Ë ◊¥ ÷Ê⁄UÃ Ÿ COMCASA ‚¥Áœ ¬⁄U Á∑§‚∑§ ‚ÊÕ „SÃÊˇÊ⁄U Á∑§ÿÊ?

(A) øËŸ (B) M§‚ (C) ß¸.ÿÍ. (D) ÿÍ.∞‚.∞.
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98. In an office of 50 employees, 20 drink only orange juice, 10 drink only watermelon juice,
5 drink neither orange juice nor watermelon juice.  Find the number of employees who drink
both juices.

Á∑§‚Ë 50 ∑§Á◊¸ÿÊ¥ ∑§  ŒçÃ⁄U ◊¥, 20 ‚¥Ã⁄U ∑§Ê ⁄U‚ ¬ËÃ „Ò¥, 10 ∑§fl‹ π⁄U’Í¡ ∑§Ê ⁄U‚ ¬ËÃ „Ò¥, 5 Ÿ ‚¥Ã⁄U ∑§Ê Ÿ „Ë π⁄U’Í¡
∑§Ê– ’ÃÊ∞° Á∑§ÃŸ ∑§◊Ë¸ ŒÊŸÊ¥ ⁄U‚ ¬ËÃ¥ „Ò¥?

(A) 10 (B) 15 (C) 12 (D) 14

99. Cases can be settled amicably outside of court through :

(A) Gram Nyayalaya (B) Social Courts

(C) Lok Adalat (D) None of the above

◊Ê◊‹Ê¥ ∑§Ê •ŒÊ‹Ã ∑§ ’Ê„⁄U ‚ÊÒ„ÊŒ¸¬ÍáÊ¸ÃÊ ÁŸ¬≈UÊÿÊ ¡Ê ‚∑§ÃÊ „Ò —

(A) ª˝Ê◊ ãÿÊÿÊ‹ÿ (B) ‚Ê◊ÊÁ¡∑§ ãÿÊÿÊ‹ÿ

(C) ‹Ê∑§ •ŒÊ‹Ã (D) ©¬⁄UÊÄÃ ◊¥ ‚ ∑§Êß¸ Ÿ„Ë¥

100. Longest river in peninsular India :

(A) Kaveri (B) Godavari (C) Krishna (D) Damodar

÷Ê⁄UÃ ¬˝ÊÿmË¬ ◊¥ ‚’‚ ‹ê’Ë ŸŒË „Ò :

(A) ∑§Êfl⁄UË (B) ªÊŒÊfl⁄UË (C) ∑Î§cáÊÊ (D) ŒÊ◊ÊŒ⁄U
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